3apaua 1

[loka3aHo, 4TO ecnu ecTb HEHyNeBOe peLLeHne, TO BbINOMHAETCS yCnoBue 3agayn 2 points

It is proven that If a nonzero solutions of the equation exists, then the problem statement is true 2
points

MpeobpasoBaHus, cBOASLLME BONPOC K M3yveHno ypaBHeHns y1 y2 y3 + y1 y2 y4 + ... = 0 0 points Equation yly2y3+yly2y4+.. = O is considered 0 pointd
3apava 2 |Cnyuvant n=2: 0 6annos Case n=2 0 points
3apaua 3
OTBET 0 6annos Answer costs 0 points
[HokaszartenbcTBo Toro, 4to P(ABC) < P(ADE) 0 6annos Inequality P(ABC) < P(ADE) is proven 0 points
B 0603HaueHusIx peLueHns noctpoeHa Touka F u ckasaHo, yto P(CDF)=P(ADE) -- 1 6ann Point F is constructed and the equality P(CDF)=P(ADE) declared 1 point
B pononHeHue k npeabigyliemy copmynmpoBaHa nemma us peluenns -- +1 6ann The previous item plus Lemma from the official solution is declared +1point
3apaua 4
OK30TUYeckme MN3ALULHbIE KOHCTPYKLUMM HE NpuBoAdALLME K yCnexy nus-3a He,D,OCTaTOHHOVI BUPTYO3HOCTHU -
0 6annos Exotic elegant constructions not leading to success due to lack of suitable skill 0 points
3apaya 5 |3a HaxoxageHue b2 n/unu ab 1 or 2 points b”2 and/or ab is constructed 1 or 2 points
Mcnonb3yeTcs BeplumHa napabonbl 6e3 ee nocTpoeHus - He 6onee 3 6annos The vertex of parabola is used but not constructed -- at most 3 points
MocTpoeHa BepLlunHa napabonbl 2 6anna The vertex of parabola is constructed without further progress -- at most 3 points
MponyLeH BbIpoXaeHHbIN cnydai (Hanpumep a=0) -1 6ann Degenerate case is missed (like a=0 etc) -1 point
3apaua 6
3apaua 7
1. [lokasaHo, 4To A5 NOSIMLIENCKOrO WaHC yrafatb paBeH 1/2°m 2 6anna 1. Itis proven that the probability that the policeman guesses is 1/2*m 2 points
2. 3anyu.leH npowecc ﬂpI/IBO,CI,ﬂLLl,VIVI K MOCTPOEHUI0 NpousseeHnsa U3 peLlleHns, Ho Lesimkom
npou3BeAeHne He nocTpoumnock 2 6anna. 2. The process of constructing the Product from the solution is started but not finished 2 points
3. MNony4yeHo npousBeaeHne U3 pelenus 5 6annos 3. The product from the solution is constructed 5 poins
3apaua 8

1. YTBepXxaaeTca eAMHCTBEHHOCTb MHOro4s1IeHOB P, Q, HO OHa He foka3aHa, a OcTanbHoe caenaHo: 5
6annos

. The uniqueness of P, Q is claimed but does not proven -- not more than 5 points

2. OTBeT faH B BMAE NpaBumnbHON cyMMbl 6 6annos

NP~

. The answer is given in the form of sum 6 points

3. MpeanoxeH cnocob HanTy Q(x) 1 6ann

3. The way to find Q is described -- 1 point

4. MoHorouneH Q(x) HainaeH (komnakTHas dopma ans koadduumeHTos) 3 6anna

4. Polynomial Q(x) is found (with coefficients in compact form) 3 points

5. N3yyeH cnyyaii n=1,2,3 0 6annoe

5. Only cases n = 1,2,3 -- 0 points




